BIEE(uSVh)

S RBIERE ML

HP B %E BF R RIE &R & *ﬁﬂj%ﬁl HE1 Om #HEF1. Ocm | 1m)ICHBITHERE
4 AREEBESEKE|SAREE| BERAE = (mSv)

1283H 9:09 [HAEEMTIR 5 (ZBHED  [Nal 0.09 0.38 0.09 0.30 0.47
12H3H 9:13[IBFERT N REE €Ak 1 [Nal 0.09 0.44 0.09 0.34 0.48
12A3H 9:17 [ ERT U REE [(EEZD)) . [Nal 0.11 0.78 0.11 1.15 0.56
12A3H 9:20| R Rt S AR EASEDD) AL [Nal 0.09 0.40 0.10 0.30 0.47
12H3H 9:26 | AER OS2 T4t 32— | (A—43—) A [Nal 0.15 1.03 0.17 1.28 0.81
12A3H 9:30|AEROS2 Tt 2— | GEED A [Nal 0.13 0.61 0.15 0.60 0.70
1283H 9:37 | EHh X ESFR (ZBHED 7 [Nal 0.12 1.18 0.11 1.76 0.00
12H3H 9:44[B A X ESFR [EAELD) 7 [Nal 0.10 1.55 0.10 2.34 0.53
12A3H 9:50| @]/ N X E S FR (ZBHAED 7 [Nal 0.14 1.64 0.13 213 0.73
12H3H 959 | FTEMRESET (ZBHED) A [Nal 0.12 1.56 0.11 1.85 0.63
12A3H 10:06| E AR E ST (ZBHED 1 [Nal 0.12 1.36 0.10 1.68 0.61
12H3H 10:11 R ESFR (ZBHED) A [Nal 0.09 1.69 0.10 1.76 0.46
12A3H 10:26[1F5<H (E=PEEHDD | A [Nal 0.19 1.56 0.15 1.97 0.98
12H3H 10:36 | E MR E ST (ZBHED A [Nal 0.10 1.85 0.11 2.40 0.53
12A3H 10:44 [Hh &R Eif (&) 1 [Nal 0.16 253 0.18 2.95 0.84
12H3H 10:50 | ERTEBF R ES o H288 [ (EFrAED . [Nal 0.14 2.77 0.13 3.45 0.71
12H3H 10:55| E X E ST (ZBHED A [Nal 0.09 2.87 0.10 3.65 0.48
12H3H 11:02[IEE QD XAY [(GEED)) 1 [Nal 0.19 1.95 0.19 2.33 0.98
12A3H 1119 MR R E ST (ZBHED 1 [Nal 0.13 1.89 0.12 274 0.69
12H3H 11:25[Z #h AN E (A O &) (EER) . [Nal 0.15 1.51 0.13 2.06 0.78

By EXESF (X)) TRX B~ AER T
12H3H 11:36 | KEHIRERFT (< EH A1) 1 [Nal 0.11 1.21 0.10 1.81 0.59
12838 13:20[#8 BV SOV FEEIS) | (XURHE) | Bh [Nal 0.07 0.92 0.07 0.63 0.39
12H3H 13:24[#8 &7 50 F(FEkE) [CA¥5208T) A [Nal 0.07 1.40 0.07 1.71 0.35
12838 13:29[#8 &5 59 RHTH5HUR) | (R {F) A [Nal 0.07 1.20 0.08 1.32 0.39
12A3H 13:38[# &5 5o R (ZEMESB)| (FS5vd) L [Nal 0.07 1.00 0.09 0.93 0.38
12838 13:41|#8&7 59 R (ZEMERE)| (T1—ILK) . [Nal 0.08 0.80 0.09 0.54 0.42
12A3H 13:51 [ E RS (M) 7 [Nal 0.09 1.15 0.09 1.23 0.47
12830 13:56 | #8 2= R 2 4R FOB BB [GEZD)) U |Nal 0.12 0.75 0.16 0.94 0.61
12A3H 1404|EE = MR ESFR AL 7 [Nal 0.11 0.79 0.12 1.11 0.60
12838 1411 | FHHEMWRESFR (=E98i) . [Nal 0.11 0.77 0.12 1.11 0.60
12H3H 14:18| = HER (ALOED A [Nal 0.08 0.83 0.13 1.07 0.43

[CE RN R (#2F9) - |Nal - 1.11 - 1.20 -
12H3H 14:30| FR¥3 Hih (ED A [Nal 0.10 1.14 0.11 1.33 0.55
12838 14:37[db X H{E 22— [{&GEDD) . [Nal 0.10 0.92 0.11 1.14 0.54

X 11A. 128 ICEELE-RKAIERE

> Eim: RO KAV (BEEIR), (X5<5 (BEMIFERT0.19 1 Sv/h

it Flem: RO KHV (EEE)0.19 4 Sv/h
MBI/ (P (. TEFOLHAIEZITO>TLEE A,




